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EXPLANATIONS
EEL 1.5. The Periodic time = 4ms =4 x 103 sec.
1l C(g : a}ff"+2t‘": Fundamental frequency
3
Bl s S S = as0me
GB+1D?  8+1%  (s+1) 4
Frequency of the 5th harmonic
Cls) = U] =250 x 5 = 1250 Hz
1+ G(s)’ 1.6. Astheelement absorbs power, letitbeR,.
25+1 e 6
G@) = Cls) (s +1)° _2+] R, +1
1-Cls)  ,_ 28+1 = R, = 50
is+1)% A ¢
P = (—] 2xB5=0W.
n - s
For5A, P=52x5=15W
8 m_lm , For3+ Ji4. P=27W
1-G(s) 1+ 1 st 45+l For3=- f14. P = 275W.
s(g+1) Hence none of the above is correct
0= 1 mr=% c:% 1-?. :%EI—C{}SZME]=1WHZ
] r ) i
i 1.8. Voltage across the capacitor at any time !
MF " E_f! h_{.‘z ] et-nm}a’ 1- (144} 'Ut - v[]_f__“rnc,’
e'-"lhﬁ__ s i RE
= =0.1 since ¥ = 1voil
Cis) 1 Cljoy 1} d 1
14, — = ——, — = : Ve o e HIEC
(s) 1+s R{jw) 1+J® E!L = ¢ gt/ RC
|11 1
Ftom:'{f]smt, n=1, iRUm” = ﬁ+1 =?§ Al t =10 Tt = RC
Qo) _ gL 8
R{jw) = Sl 4 19. R= 4 x107% 2000
1 r . 6x107°
SSvalueofcil) = E gin ["‘z) Time constant = 'S 2 x 10° 3 jsec
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